

APPLICATION OF GREEN'S MATRIX METHOD IN VIBRATION PROBLEMS OF TIMOSHENKO BEAMS

Izabela Zamorska

*Institute of Mathematics, Czestochowa University of Technology, Poland
izabela.zamorska@im.pcz.pl*

Abstract. In the present paper, a Green's matrix used to solve vibration problems of Timoshenko beams is determined. The problem formulation includes beam vibrations which are described by differential equations with variable parameters. To determine the Green's matrix, the power series method was used.

Introduction

The analysis of the vibration problem of a non-uniform Timoshenko beam was the subject of papers [1-6]. In general, assuming that the coefficients of differential equations are variables of spatial coordinates, a solution in an analytical form is not available. The exact solution by the dynamic stiffness method for the free vibration problem was given in [1] and [2]. The Authors of paper [1] used the method of Frobenius to obtain the exact fundamental solutions of differential equations. The same method was proposed in [3] and [4], but in these papers the authors reduced two characteristic equations into one four-order ordinary differential equation. The solution to the vibration problem of the non prismatic Timoshenko beam, by using Chebyshev series approximation was presented in [5]. The Green's function method (GFM) for a stepped beam was shown in [6]. In this paper a functional matrix needed in GFM applied to solving the vibration problems of Timoshenko beams is derived.

1. Formulation of the problem

Let us consider a set of two differential equations:

$$\begin{cases} \frac{d}{dx} \left[Q(x) \left(\frac{dY}{dx} - \psi \right) \right] + m(x) \omega^2 Y = \bar{\mathbf{M}}_1[Y, \psi] \\ \frac{d}{dx} \left[R(x) \frac{d\psi}{dx} \right] + Q(x) \left(\frac{dY}{dx} - \psi \right) + \omega^2 J(x) \psi = \bar{\mathbf{M}}_2[Y, \psi] \end{cases} \quad (1)$$

The presented equations describe the motion of a Timoshenko beam for time harmonic vibrations with angular frequency ω . The meaning of functions Y , ψ is, re-

spectively, beam lateral displacement and angle of rotation due to bending, Q is shear rigidity, R - bending rigidity of a beam, m - mass per unit length and J is the mass moment of inertia of the beam per unit length. The form of operators $\bar{\mathbf{M}}_1$, $\bar{\mathbf{M}}_2$ depend on the nature of the attached discrete systems. At points $x = 0$ and $x = L$ (ends of the beam), functions Y , ψ satisfy the boundary conditions, which can be written in a symbolical form as:

$$\bar{\mathbf{B}}_0[Y, \psi] \Big|_{x=0} = 0, \quad \bar{\mathbf{B}}_1[Y, \psi] \Big|_{x=L} = 0 \quad (2)$$

Introducing dimensionless coordinate $\xi = \frac{x}{L}$ (L - length of the beam) into equations (1), (2) we obtain:

$$\begin{cases} \frac{d}{d\xi} \left[\frac{q(\xi)}{\Delta} \left(\frac{dy(\xi)}{d\xi} - \psi(\xi) \right) \right] + s(\xi) \Omega^2 y(\xi) = \mathbf{M}_1[y(\xi), \psi(\xi)] \\ \frac{d}{d\xi} \left[r(\xi) \frac{d\psi(\xi)}{d\xi} \right] + \frac{q(\xi)}{\Delta} \left(\frac{dy(\xi)}{d\xi} - \psi(\xi) \right) + \gamma(\xi) \eta \Omega^2 \psi(\xi) = \mathbf{M}_2[y(\xi), \psi(\xi)] \end{cases} \quad (3)$$

and boundary conditions

$$\mathbf{B}_0[y, \psi] \Big|_{\xi=0} = 0, \quad \mathbf{B}_1[y, \psi] \Big|_{\xi=1} = 0 \quad (4)$$

$$\text{where } y = \frac{Y}{L}, \quad q(\xi) = \frac{Q(\xi)}{Q(0)}, \quad s(\xi) = \frac{m(\xi)}{m(0)}, \quad r(\xi) = \frac{R(\xi)}{R(0)}, \quad \gamma(\xi) = \frac{J(\xi)}{J(0)}$$

$$\Delta = \frac{R(0)}{Q(0)L^2}, \quad \eta = \frac{J(0)}{m(0)L^2} \quad \text{and} \quad \Omega^2 = \frac{m(0)L^4 \omega^2}{R(0)}$$

The set of equations (3) we can rewrite in a simply form as a matrix equation [1]:

$$[\mathbf{A}_2]\{\mathbf{V}''\} + [\mathbf{A}_1]\{\mathbf{V}'\} + [\mathbf{A}_0]\{\mathbf{V}\} = [\mathbf{M}] \quad (5)$$

where

$$[\mathbf{A}_2] = \begin{bmatrix} q & 0 \\ 0 & \Delta r \end{bmatrix}, \quad [\mathbf{A}_1] = \begin{bmatrix} q & -q \\ q & \Delta r' \end{bmatrix}, \quad [\mathbf{A}_0] = \begin{bmatrix} \Delta \Omega^2 s & -q' \\ 0 & \Delta \eta \Omega^2 \gamma r \end{bmatrix}$$

$$\{\mathbf{V}''\} = \begin{bmatrix} y'' \\ \psi'' \end{bmatrix}, \quad \{\mathbf{V}'\} = \begin{bmatrix} y' \\ \psi' \end{bmatrix}, \quad \{\mathbf{V}\} = \begin{bmatrix} y \\ \psi \end{bmatrix}, \quad [\mathbf{M}] = \begin{bmatrix} \mathbf{M}_1 \\ \mathbf{M}_2 \end{bmatrix}$$

and $q = q(\xi)$, $s = s(\xi)$, $\gamma = \gamma(\xi)$, $r = r(\xi)$, $y = y(\xi)$, $\psi = \psi(\xi)$. The form of operator \mathbf{M} depends on the attached discrete elements [6].

To find a solution to boundary problem (4), (5), Green's function (matrix) method can be used.

2. Functional Green's matrix

Let us suppose that the Green's matrix of the matrix differential operator \mathcal{L}

$$\mathcal{L} = \begin{bmatrix} q \frac{d^2}{d\xi^2} + \frac{dq}{d\xi} \frac{d}{d\xi} + \text{Is} \Omega^2 & -q \frac{d}{d\xi} - \frac{dq}{d\xi} \frac{d}{d\xi} \\ q \frac{d}{d\xi} & \text{Ir} \frac{d^2}{d\xi^2} + \frac{dr}{d\xi} \frac{d}{d\xi} + \text{Ir} \Omega^2 r \gamma \end{bmatrix} \quad (6)$$

is known, then the solution of (4), (5) may be written as:

$$\mathbf{V}(\xi) = \int_0^1 \mathbf{G}^T(\xi, \zeta) \mathbf{M}(\zeta) d\zeta \quad (7)$$

In the vibration analysis of the considered Timoshenko beam, solution (7) is used to obtain the frequency equation, which is then solved numerically with respect to eigenfrequencies ω_n . Matrix \mathbf{G} , occurring in equation (7), has the form:

$$\begin{aligned} \mathbf{G}(\xi, \zeta) &= \mathbf{G}_0(\xi, \zeta) + \mathbf{G}_1(\xi, \zeta) H(\xi - \zeta) = \\ &= \begin{bmatrix} g_{01}(\xi, \zeta) + g_{11}(\xi - \zeta) H(\xi - \zeta) & g_{02}(\xi, \zeta) + g_{12}(\xi - \zeta) H(\xi - \zeta) \\ g_{03}(\xi, \zeta) + g_{13}(\xi - \zeta) H(\xi - \zeta) & g_{04}(\xi, \zeta) + g_{14}(\xi - \zeta) H(\xi - \zeta) \end{bmatrix} \end{aligned} \quad (8)$$

($H(\cdot)$ is a unit step function) and satisfies the equation:

$$\mathcal{L}\{\mathbf{G}\} = \mathbf{I} \delta(\xi - \zeta) \quad (9)$$

where \mathbf{I} is an identity matrix and $\delta(\cdot)$ is a delta function. Matrices \mathbf{G}_0 , \mathbf{G}_1 satisfy the homogeneous equation

$$\mathcal{L}\{\mathbf{U}\} = 0. \quad (10)$$

Moreover, \mathbf{G}_1 fulfills the additional conditions presented in [6]. The solution of (10) we want find in the form of a vector of the power series:

$$\{\mathbf{V}\} = \begin{bmatrix} y(\xi) \\ \psi(\xi) \end{bmatrix} = \begin{bmatrix} \sum_{i=0}^{\infty} \frac{y_i}{i!} \xi^i \\ \sum_{i=0}^{\infty} \frac{p_i}{i!} \xi^i \end{bmatrix} \quad (11)$$

Let us assume that functions q, s, γ, r are also given as a sum:

$$q(\xi) = s(\xi) = \sum_{i=0}^{\infty} \frac{a_i}{i!} \xi^i, \quad \gamma(\xi) = r(\xi) = \sum_{i=0}^{\infty} \frac{b_i}{i!} \xi^i \quad (12)$$

Substituting (11) and (12) into a homogeneous equation, we can write it as follows:

$$\begin{bmatrix} \sum_{i=0}^{\infty} \frac{\bar{z}_i}{i!} \xi^i \\ \sum_{i=0}^{\infty} \frac{\bar{z}_i}{i!} \xi^i \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix} \quad (13)$$

where:

$$\begin{aligned} z_i &= \sum_{j=0}^i \binom{i}{j} \left[a_j \left(\Omega^2 y_{i-j} + y_{i+1-j} + y_{i+2-j} - p_{i+1-j} \right) - a_{j+1} p_{i-j} \right] \\ \bar{z}_i &= \sum_{j=0}^i \binom{i}{j} \left[a_j \left(y_{i+1-j} - p_{i-j} \right) + b_j \left(-\eta \Omega^2 p_{i-j} + p_{i+2-j} \right) + b_{j+1} p_{i+1-j} \right] \end{aligned} \quad (14)$$

It leads to the system of equations:

$$\begin{aligned} \sum_{j=0}^i \binom{i}{j} \left[a_j \left(\Omega^2 y_{i-j} + y_{i+1-j} + y_{i+2-j} - p_{i+1-j} \right) - a_{j+1} p_{i-j} \right] &= 0 \\ \sum_{j=0}^i \binom{i}{j} \left[a_j \left(y_{i+1-j} - p_{i-j} \right) + b_j \left(-\eta \Omega^2 p_{i-j} + p_{i+2-j} \right) + b_{j+1} p_{i+1-j} \right] &= 0, \quad i = 0, 1, 2, \dots \end{aligned} \quad (15)$$

or, in another form:

$$\begin{aligned} y_{i+2} &= -\Omega^2 y_i - y_{i+1} + p_{i+1} + \frac{a_1}{a_0} p_i - \frac{1}{a_0} \sum_{j=1}^i Z_{ij} \\ p_{i+2} &= -\frac{a_0}{b_0} y_{i+1} + \left(\frac{a_0}{b_0} + \eta \Omega^2 \right) p_i - \frac{b_1}{b_0} p_{i+1} - \frac{1}{b_0} \sum_{j=1}^i \bar{Z}_{ij}, \quad i = 0, 1, 2, \dots \end{aligned} \quad (16)$$

where

$$\begin{aligned} Z_{ij} &= \binom{i}{j} \left[a_j \left(\Omega^2 y_{i-j} + y_{i+1-j} + y_{i+2-j} - p_{i+1-j} \right) - a_{j+1} p_{i-j} \right] \\ \bar{Z}_{ij} &= \binom{i}{j} \left[a_j \left(y_{i+1-j} - p_{i-j} \right) + b_j \left(-\eta \Omega^2 p_{i-j} + p_{i+2-j} \right) + b_{j+1} p_{i+1-j} \right], \quad i = 0, 1, 2, \dots \end{aligned} \quad (17)$$

The values of unknown coefficients y_{i+2}, p_{i+2} ($i = 0, 1, 2, 3, \dots$) can be expressed by means of coefficients y_0, y_1, p_0, p_1 . It is possible to prove that four sets of conditions:

$$\begin{aligned}
\text{a)} \quad & y_0 = 0, y_1 = 1, p_0 = 0, p_1 = 1 \\
\text{b)} \quad & y_0 = 0, y_1 = 1, p_0 = 1, p_1 = 0 \\
\text{c)} \quad & y_0 = 1, y_1 = 0, p_0 = 0, p_1 = 1 \\
\text{d)} \quad & y_0 = 1, y_1 = 0, p_0 = 1, p_1 = 0
\end{aligned} \tag{18}$$

give us four linear independent solutions and therefore, we may write:

$$\{\mathbf{U}\} = \begin{bmatrix} C_1 \sum_{i=0}^{\infty} \frac{y_{1,i}}{i!} \xi^i + C_2 \sum_{i=0}^{\infty} \frac{y_{2,i}}{i!} \xi^i \\ C_3 \sum_{i=0}^{\infty} \frac{p_{1,i}}{i!} \xi^i + C_4 \sum_{i=0}^{\infty} \frac{p_{2,i}}{i!} \xi^i \end{bmatrix} = \begin{bmatrix} C_1 A_1(\xi) + C_2 A_2(\xi) \\ C_3 B_1(\xi) + C_4 B_2(\xi) \end{bmatrix} \tag{19}$$

Finally, matrix $\mathbf{G}(\xi, \zeta)$ corresponding to system $\mathcal{L}\{\mathbf{V}\} = [\mathbf{M}]$, has the form:

$$\mathbf{G}(\xi, \zeta) = \begin{bmatrix} C_1 A_1(\xi) + \bar{C}_1 A_1(\xi - \zeta) & C_2 A_2(\xi) + \bar{C}_2 A_2(\xi - \zeta) \\ C_3 B_1(\xi) + \bar{C}_3 B_1(\xi - \zeta) & C_4 B_2(\xi) + \bar{C}_4 B_2(\xi - \zeta) \end{bmatrix} \cdot H(\xi - \zeta) \tag{20}$$

Unknown coefficients C_i , $i = 1, 2, 3, 4$ are determined by the use of boundary conditions (4). For example, the boundary conditions for a simply supported end of the beam are:

$$y = 0, \quad \psi' = 0 \tag{21}$$

and for the rigidly fixed end of the beam:

$$y = 0, \quad \psi = 0 \tag{22}$$

Conclusions

In this paper Green's matrix of the linear matrix operator occurring in equations of motion of a Timoshenko beam, was found. To determine the solution of homogeneous equations, power series were proposed. The presented method can be used for numerical calculations of the vibration problem of the considered non-uniform beam with attachments.

References

- [1] Leung A.Y.T., Zhou W.E., Dynamic stiffness analysis of non-uniform Timoshenko beams, *Journal of Sound and Vibration* 1995, 181(3), 447-456.
- [2] Si Yuan, Kangsheng Ye, Cheng Xiao, F.W. Williams, D. Kennedy, Exact dynamic stiffness method for non-uniform Timoshenko beam vibrations and Bernoulli - Euler column buckling, *Journal of Sound and Vibrations* 2007, 303, 526-537.

- [3] Esmailzadeh E., Ohadi A.R., Vibration and stability analysis of non-uniform Timoshenko beams under axial and distributed tangential loads, *Journal of Sound and Vibrations* 2000, 236(3), 443-456.
- [4] Sen Young Lee, Shueei Muh Lin, Exact vibration solutions for non-uniform Timoshenko beams with attachments, *AIAA Journal* 1992, 30(12).
- [5] Ruta P., The application of Chebyshev polynomials to the solution of the nonprismatic Timoshenko beam vibration problem, *Journal of Sound and Vibrations* 2006, 296, 243-269.
- [6] Kukła S., Dynamiczne funkcje Greena w analizie drgań własnych ciągłych i dyskretno-ciągłych układów mechanicznych, *Monografie 64, Wydawnictwo Politechniki Częstochowskiej*, Częstochowa 1999.